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(@Y Sreiee)
A i, 3iEd 3urT Jgid (APC) &1 e 0.8 & 9T TE 3T T 4,000 HUE 7, @
EECER SR S BT | (w8 forhea g frarm o <t gfd =i 1) 1
forerey
(A) 100 B) 200
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General Instructions :

Read
()
(i1)

the following instructions carefully and follow them :
This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(i11) This Question paper contains 20 Multiple Choice type questions. Each

question carries 1 mark.

(tv)  This Question paper contains 4 Short Answer Type-I questions. Each

(v)

question carries 3 marks. Answer these questions in 60 to 80 words.

This Question paper contains 6 Short Answer Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This Question paper contains 4 Long Answer type questions. FEach

question carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.
(viir) In addition to this, NOTE that a separate question has been prouvided for

Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There is no overall choice in the question paper. However, an internal

choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

1. Suppose, the value of Average Propensity to Consume (APC) is 0.8 and
National Income is ¥ 4,000 crores, the value of saving would be ¥
crores. (Choose the correct option to fill up the blank) 1
Options :
(A) 100 B) 200
(C) 500 (D) 800

2. Suppose, the saving curve of an economy makes an intercept at a negative
value of ¥ 50 crores. In the economy, 20% of an increase in income is
saved.
In the light of above context, identify the value of investment multiplier (K). 1
Options :
A 2 B) 5
) 10 (D) oo (infinite)
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3. aTfuTTSeh Sehi o G 1, Fafdifgd A g P B e a8 2
(G foreheq o1 == L 1)
@) S o foTT FHT AT Bietl & |
AD) o FiFaEd § 91E o 8 ¢ |
(III) 3 A a1 H AT SfhR Hd & |
AV) o AR fstd Seh ohl 3T & STHT Tieh R i 2 |

Tarheq
A @O, dD s dID B) dI)=a {dII)
©) @« dDn D) @OFAV)
4. R TP T 600 FS 1 A AT HET & q1 T 450 FHUS HI A AT Ll 8,
TEHAUREIEH B GAI__ HUSHI Bl |
(A) 150, g1 (B) 150, RN
(C) 1,050, =TT D) 1,050, 3ferem

5.  ehicH-1d hiem-11 § feu e uei & Tyg # & Hel 30 1 9=

HieH-1 Hiem-I1
(a) TR-F oA () TFIFTH
(b)  IFTFT R (i) g% @R (Free-rider)

(c) dSirma == (i) =W
(d)  Fsft aege (iv)  wiggreHeh Jhhd

ferpey :
@A) (@-@G B) (b) - (@)
(©) (o) — (i) D) @) -Gv)

6. TrAfetRaa et o1 eamYe 3Te o :
HUT 1 : yafrd fored) fafame e yomreft fer 9 70 fafamar o somreft <61 wes qameH 2 |
HUT 2 : et fordt fafe ot yomreft = ‘gsfe worelt’ & wu § ot SIS # |
feu U e % 3rreties H, frferfiga O § wE fashen o1 =a Fifse
(A) HY 1T N HYT 2 IR |
(B) HYF 1A INHYT 2 TR |
(C) #1323 g2 |
(D) % 1 37 2 ST FE & |
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[ J e o
In the context of the Commercial Banks, which of the following
statements are correct ? (Choose the correct option) 1
(I) Deposits received are liabilities for Commercial Banks.
(II) They are creator of credit in the economy.
(IIT) They accept deposits from general public.
(IV) They accept deposits on behalf of Reserve Bank of India.

Options :
A) @, dI) and (III) (B) (dI) and (III)
(©) @ and dI) D) @ and dV)

4. If a country exports goods worth of ¥ 600 crores and imports goods worth
of ¥ 450 crores, the value of Balance of Trade of the country would be

of ¥ crores. 1
(A) deficit, 150 (B) surplus, 150
(C) deficit, 1,050 (D) surplus, 1,050

5. From the set of terms given in Column-I and Column-II, choose the

correct pair : 1
Column-I Column-II
(a) Non-tax Revenue 1) Goods and Services Tax
(b) Indirect Tax (11) Free-rider
(¢) Capital expenditure (i11) Borrowings
(d) Private goods (iv)  Rivalrous in nature
Options :
A @-@0 B) () — @G
©) (o) — (i) D) @) —-@Gv)
6. Read the following statements carefully : 1

Statement-1 : Managed floating exchange rate system is an
amalgamation of fixed and flexible exchange rate system.

Statement-2 : Managed floating exchange rate system is also known as
‘hybrid system’.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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7. hic-1 9 hiem-11 < 7€ uel § o 9l W 1 95+ I ;

Hier-I Hiem-11
(a) @UdH A Q) FgrEE i
(b)  IERfeTar § 3™ (i) v
() faftasma (i) e gw S
TRt ek STTaTE
(d)  HHTTIE! T G (iv) USht WSA

Torhey -

A (@-0 ®B) (b) - @)
©) (o) — (i) D) (D) -G

8. TraforRaa wumi-arfimpem (A) 9 0T (R) 1 3w &t | i fou ¢ fosheat o @ w&h
Tershea o1 =RF L
IR (A) : T TE o TEU &, TRt IUIT ST g amgfeeh €9 | T
ST |
SR (R) : HTEh U STesehd Td NTg-gTceeh Jehfd <l Bl & |
Ty
(A) AR (A) g HRUT (R) THT TcF & aUT SR (R), IR (A) h T&t =3
2|
B) IfHH (A) T HRO (R) THI T &7, ifehd HRU (R), 3Tfped (A) St T&
ST T8I L1 3 |
(C) AR (A) T &, A RN (R) 31ET § |
(D) ARTRUT (A) 3TEH B, AT HROT (R) TA R |

9. T Tqei o =T @I oHe o Hed H, frforlad 8 @ srae wem ot vaam i -
(TE fereped =1 == )
forshem
(A) g3l R Ha3ti o Tafd 1 shfee wei o &0 3 oot o S R |
(B) oq3il 3 Hernati o ST ol e 78l o &9 1 ot fohal ST 2 |
(C) ft FieroT ST 2fere 7l o 9 1 ot fophu ST § |
(D) Tt gEarawor grfeEt Sfere 7el o &9 1 oot I Sl # |

58/1/3 ~ 6|Page Elqg,lil



7. From the items given in Column-I and Column-II, choose the correct pair. 1
Column-I Column-II
(a) Income from Property 6] Old age pension

(b) Income from Entrepreneurship (ii) Profit

(¢) Mixed Income (iii)) Rent free accommodation
from an employer
(d) Compensation of Employees (iv)  Interest from capital
Options :
A @-0 B) () - a1
©) (o) — (i) D) @) —-@Gv)

8. Read the following statements : Assertion (A) and Reason (R). Choose the
correct option from those given below : 1

Assertion (A) : Public goods are those goods that are collectively
consumed by the public.

Reason (R): Public goods are excludable and rivalrous in nature.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

9. In the context of Current Account transactions of Balance of Payment,

identify the incorrect statement from the following : 1
(Choose the correct option)

Options :

(A) Export of goods and services are recorded as credit items.

(B) Import of goods and services are recorded as debit items.

(C) All transfer payments are recorded as debit items.

(D) All transfer receipts are recorded as debit items.
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10.

11.

12.

13.

14.

“STHM (Teh B 7 37T shieist bl 1 o fet 2 80,000 <A1 01 foram B | 98 SA1aeh 8
% B UTE F1G F T TR HW hHl AT o1 @ 2, B 97 10 99 S srafy §

gehrar |7

IYARH Tl o SR T YT o ey sl <hi wa=m =i | @& fopeg =R 1
faweg :

Q) fafm % mem (B) W HITHE

(C) =TT Y™ 1 7T D) ToI I

(a) HTEH AT W YE Hed Ira (NVA ) o Jod ol T0HT o : 3

Lk e uf¥

@ HUg H)
(i) | ufcamem srfesm 3,740
(i) | Wi (unsold stock) ﬁq&;’ 600
(iii) | fershy 10,625
(iv) | =l AT T S 2,625
(v) | o SR ot 3ae 500
(vi) |39 400

(vil) | TIcTeT 1,200

YT
(b) forcem & W g W1eM 3 (NFIA) 71 3g Foafd X — M) S A SR eghi | 3

“goft 3w aEqd fshTas S < B 7 1
3T ICTET G, UL Y T HHL YT TS . | 3

“BTA o IIC H, TR + WGk TIaE H GET T Jguu1 H Sl st o g WHie T
T 7% 7T AT b fET0T % oI o srmafed fpa g 17
T FHR S hl Teh(d o IHeh Ie74 hl TgaH . | 4

T <fifore, foreft sreferamen & wafies ST 2 500 B, fe TRfira 3ua 25% 7 | Sf
TSt GRT G et ST TR AT %ol U (F0T) 1 STHM T | 4
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10. “Irfaan (a student) borrows ¥ 80,000 to finance his college fee. He plans to
begin repaying the loan six months after his graduation, making
payments over a span of ten years.”

Based on above text, identify the indicated function of money.
(Choose the correct option) 1
Options :
(A) Medium of Exchange (B) Unit of Account
(C) Standard of Deferred Payments (D) Store of Value

11. (a) Calculate the value of Net Value Added at Factor Cost (NVAg() : 3
S. No. Particulars Amount
(In ¥ crore)
1) Operating Surplus 3,740
(1) | Increase in unsold stock 600
(i11) | Sales 10,625
(iv) | Purchase of raw materials 2,625
W) Consumption of fixed capital 500
(vi) | Subsidies 400
(vi1) | Indirect taxes 1,200
OR
(b) Distinguish between Net Factor Income from Abroad (NFIA) and Net
Exports (X — M). 3

12. “All consumption goods are durable in nature.”

Defend or refute the given statement with the help of a suitable example. 3

13. “In the recent Budget the Government allocated funds for construction of
new metro lines in smart cities to improve public transportation and
reduce pollution.”

Identify the nature of government expenditure & its objective. 4

14. Suppose in an economy, primary deposits are T 500, if the Reserve Ratio is
25%. Estimate the total deposits created and the total lending by the
banking system. 4

58/1/3 ~ 9|Page El_;g.lil P.T.O.

G



15. (a) U Fd=Eedn #; C =200 + 0.75 Y (J&f C = SUN0 =2 8, a91 Y = U 3™
)
frawe@ =2 4,000 € 8 |
FrfaRaa it TR -
(i) 3T 1 Gged &R
(i) 3T % e T 9T Het TR -

Yt
(b) TATRAA s o TeaTieqd et & 31fereh B <t feurfa o oo ot <hl e Rt |

16. Tferiaa mer 1 SgEE STeEE W
S G 9 IUURET A & T 4 Hal Foh, TR T @ a5get h Geu (retail)
SHiai w1 b e o fore fomra awt o % wfora wen 331w 2 | 38 et fob, Tepr
e Ty Y 31k gfg @ wwsian foru form gerehifa i frior & w7 | Fee 2023 §
U HEEhIfd 5.55% o fiF HTE & I=aH &R W U959 T8, ST foh @rer qererf 61 aedt
STl o R 8 | 3R 2023 H GErhifer § firrae 3meft oft, 519 918 6.83% W ugd 78
QﬁIWa@ﬁiﬁgﬁﬁﬁ(wholesale)aw(retail)@mqv?ﬁﬁ"r(l:ﬁ?@ﬁ%@
5 TR A 140 ¢ ge=1 T g T fop & |
TR A g, g2 Fad, N-a1EHdt g Iad, @ 37 H3 @ e & fafd w
wiferaier <0 e & 1 ey 3mafd 1 Sicenfed e o ot den gew gfg @ Feha s
ToTT TR 7 forete 9 gefe W 31T Yoo MR fean |
YR T & HHT T o TR R =iferiaa g9+ & 3w S :
(a) TR g TTa 9 gt fmt Shesi <t wen srand |
(b) TR MYt T MewaTfed w9 gt H it A o forw aepr i 331w e foneddf &1

Gisha U 1 Ioei@ H |

() Tgrehifa 1 fefa o 3 fore srpes forelt wen Hifges sur i sre it |

17. (a) () Hoegaed Tt gro T 31 1 STehel Hd TH TUATS ST aTett fhgi a1

GraeT i STEdn i |

(i) “I=F Fhel TNe] IS (GDP) &1 37 Tea rderaey § gwgani i ufd afh
F-IqesIaI AT ? |7
IUXITH U T 35 G o AT oh ShedTUT b Feheh oh &Y H YA 372ra e i |

AYAT
(b) () SUIH IS GRI, Tieh = 9 Y18 = H 37 T A, |

(i) T I (NNPp) F1 FIHE T 61 3 farfer o FZER A1 6 weohi

T AT R |
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15. (a) In an economy ; C =200+ 0.75Y (where C is consumption expenditure
and Y is National Income). Investment expenditure is ¥ 4,000 Crore. 4
Calculate the following :
(1) Equilibrium level of income.
(11) Total consumption expenditure at equilibrium income level.

OR
(b) Explain the adjustment mechanism in case ex-ante savings are

greater than ex-ante investments. 4

16. Read the following text carefully :
Union Food and Consumer Affairs Minister said that the Central
Government has taken many proactive steps in the past few years to
control retail prices of food items. He said that the government aims to
keep inflation under control without compromising the country’s economic
growth. Retail inflation inched up to a three-month high of 5.55% in
November 2023 driven by higher food prices. Inflation has been declining
since August 2023, when it touched 6.83%. 140 new price monitoring
centres had been set up by the Central Government to keep a close watch
on wholesale and retail prices of essential commodities.
The Government has banned the export of many food items like wheat, broken
rice, non-basmati white rice, onions etc. It has also reduced import duties on
edible oils and pulses to boost domestic supply and control price rise.
On the basis of the given text and common understanding, answer the
following questions :
(a) Mention the number of new price monitoring centres set up by

government. 1

(b) State any two proactive measures taken by government to boost

domestic supply and reduction in prices. 2
(¢) Explain any one monetary measure used to control inflation. 3
17. (a) (1) Explain any two precautions to be adopted while estimating
National Income by Value-added method. 3
(11) “Higher Gross Domestic Product (GDP) always means higher
per capita availability of goods in the economy.” 3
Defend or refute the given statement as the index of welfare of
the people of that country.
OR
(b) (1) Distinguish between Stock and flow variables, using suitable
examples. 3
(i) Explain the components of ‘Profit’ as per Income Method of
estimating National Income (NNPge). 3
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g -T
(TR TTRie forenm)
18. U TCIHIIcTeh SRISFTRI &, S AT o Teh ATehtl & GEL Rl § JH o 0T 39 it & |

& 178 RIS o IR TSR SUST & SRR hl tgaH hifve | (F fesrcg =R ) 1
Torereq

A4) Wéﬂwﬁ (B) TEH ST
(C) et SIS (D) =vuTTeHeh SO
19. Trafefaa semi-31fimem (A) @ SR (R) 1 eHYdes 18R & | = fou 7o faspedt
T 9 ge) forehed o1 = R 1

ABU (A) :  3NIh Gu ¥ yd, = g ARk ST W HTES e e
TRETHEEY SEd A4 fashm Sehas (HDI) T8 gU Y |

%I (R) : = s g foreh® Hehdeh! (HDI) H YR o UTfehEd™ & 3T # |

faeeT -

(A) 3R (A) 9 RO (R) THT I & TUT SR (R), 3THAT (A) 6l Tl =
2l

(B) 3R (A) 9 RO (R) TFT TF &, ] SR (R), AR (A) i T
AT 8] hLdT 2 |

(C) 3R (A) T B, Wifehd RUT (R) 3§ |

(D) 3R (A) 39 B, Afehd 0T (R) T 2 |

20.

gicreefia s fean 2 |
faweg -
A) fria g B) frfa wiremm
(C) 3T g8 (D) IR Tl
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18.

19.

20.

SECTION -B
(Indian Economic Development)

“It is short-term unemployment occurring, as people transit between jobs.”

On the basis of given definition, identify the type of unemployment
indicated. (Choose the correct option) 1
Options :

(A) Disguised Unemployment

(B) Seasonal Unemployment

(C) Open Unemployment

(D) Frictional Unemployment

Read the following statements carefully : Assertion (A) and Reason (R).

Choose the correct option from those given below : 1

Assertion (A) : Prior to economic reforms, public investment in social
infrastructure by China resulted in better Human Development
Indicators (HDI).

Reason (R) : China is ahead of India and Pakistan on many Human
Development Indicators (HDI).

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Study the following image carefully : 1

with domestic production.

Options :
(A) Export Promotion (B) Export Substitution
(C) Import Proliferation (D) Import Substitution
58/1/3 ~ 13|Page Elqg,lil P.T.O.
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e : FrafeRaa we wae gferim whemfi < fore yem vem 20 F A R |
39 =R fifa w1 Gefifa wtar 7, forer 389 axq3ti & wie] IdTe

ek STATTr S 3TT TX FefT &l A T 7 |
forepey -
A) Tt gad= B) i gfeeem=
(C) 3T YfawIm= (D) T JER

21. hieH-1 ¥ fer mu f=ferfiaa uel w1 swicm-11 8 feu mu 319 & firem ot

~

hietd-1 HicH-11

(@) I e Tehash (i) I 1 IR

(b) SEIfEIR Hehash (i) e T

(c) formm amfele & (i) afefes smfees nfafafr = gem
(d) R T (iv) amfes et

ey

A (@-@ ®B) () - @)
©) (o) — (i) D) (d)-av)

22. freferRad hemi-31fiehed (A) 9 SR (R) 1 MY 376529 & | i feu e femeai &
T TEl forehed T ST R
A (A) : A= Goft Fmior anffes wffafern # S 6 wriier <@ ¥ gfg s
2 e Tk faehe b1 Tieariad s 2 |
%R (R) : et gX fopeft Ty Y IcuTes sk § gotw =Rkl & Wi
Hefilg w2 |
foreed
(A) 3AHUT (A) T SR (R) SHT G 8 a1 R (R), 31TUhyA (A) ht Tt e
2|
(B) AT (A) 9 RO (R) HI T &, WAfehd HRUT (R), YT (A) T Tal
ST T8 LT © |
(C) FATHYT (A) T 7, SAfehd SR (R) 3EA 2 |
(D) IARTRAA (A) 3T B, Wbt HIOT (R) T 2 |
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Note: The following question is for the visually impaired
candidates only, in lieu of Q. No. 20.
refers to a trade policy aimed at reducing reliance on imported

goods by encouraging domestic production. 1
Options :

(A) Export Promotion (B) Export Substitution

(C) Import Substitution (D) Import Proliferation

21. From the following terms given in Column-I, match the correct pair of

meaning given in Column-II : 1
Column-I Column-II
(a) Human Development Indicator (1) Rule of Law
(b) Demographic Indicator (1) Constitutional Protection
(¢) Special Economic Zone (1ii) Generation of additional
economic activities
(d) Commune System @iv) Collective industrialisation
Options :
Q) (-0 B) (b) -G
©) (o) — (1) D) (d)-av)
22. Read the following statements carefully : Assertion (A) and Reason (R).
Choose the correct option from those given below : 1
Assertion (A) : Human capital formation increases the rate of
participation of population to economic activities and leads to
economic growth.

Reason (R) : Rate of participation of people refers to the percentage of
people engaged in production process of a country.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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23. W frforiea 5 & form gpfa/afaes Snfiies wvg 1 wew T8 @ 2

(A) Ts=@ (BRICS) (B) @ (SAARC)
(C) G-20 D) G-7
24. <9 4 Ue ofiv Bierg 1 i H & T |
(Tt ferepe gru frar o <6l gfd =61 1)
Ty
(A) (B) 3=ifies
(C) forcita (D) fremor

25. ﬁmﬁfﬁaﬁﬁaaﬂ

wmmﬁﬁwawaﬁ,ﬁqﬁmﬁﬁﬁnm{ﬁﬁmﬁﬂéﬁl
Ty

A) Riw (B) uTawia Tk

(C) ehetehl ITfd (D) Hiwepiceh ferepm

e : Frfeiaa s o gidamia whenfit % fore s g 25 F R W R )
g o, Ffetiad 4 & el it errof ferenrd <61 wrHiferdi 4 & T T2l @ |
forpe

(A) Tl o -G Gl T ITIT

(B) UfegT & foru Sfiamss e o1 3T

(C) URYNEh FH =T U=

(D) e FrIRE @E H1 3T
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23. India is NOT a member of which of the following regional/global economic

grouping ? 1
(A) BRICS (B) SAARC
(©) G-20 D) G-7
24. sector was the primary focus of the Great Leap Forward in China. 1
(Fill up the blank with correct option)
Options :
(A) Tax (B) Industrial
(C) Financial (D) Educational
25. Study the following picture : 1
Identify and select, the recent phenomenon in which demand for resources
surpasses their supply.
Options :
(A) Economic growth (B) Environmental crisis
(C) Technological advancement (D) Cultural evolution
Note : The following question is for the visually impaired
candidates only, in lieu of Q. No. 25.
Identify, which of the following is NOT one of the strategies for
Sustainable Development. 1
Options :
(A) Use of non-conventional sources of energy
(B) Use of fossil fuel for transportation
(C) Use of traditional knowledge
(D) Use of organic compost manure
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26. frefcTRad el 1 eaTYE 31 W
-1 : R Safh fafia St s o smesfenes wer 8 wehd # |
HYF-2 : TRA b ATHIOT & | Frfira SaeTrft UsPT TSR T Ush SHE 614 ¢ |
feu Tu et % el ¥, Frforfga § & et faehed o1 =z Hife -
(A) HUT 1T TN HUT 2 AR |
(B) % 13I8 N HYT 2T R |
(C) %o 132 TAE |
(D) M 1 3R 2 T A E |

27. i feu e siem-1 9 shiem-11 H feu e uei § | T&t 9 1 =5 i :

hod ~

-1 Hiem-11
(i) I9eH (a) 3T I ST Gl Tt ST <ht 3fersham T
i) ofy = fefor (b) TPR 1956 1 a
(iii) o & (c) TS T ATl < forw ofyy
(iv) UeNig ASHET 5 39T & ) graTioeh gfEenion § it
Y 1 SRR
forepeq
A @ -() B) (@G- ()
(©) (i) - (o) D) @Gv)—(d)

28.  fifereh GSft 9 AT Sht 3T THE W |
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26. Read the following statements carefully : 1
Statement-1 : Hired workers may be regular salaried workers or casual
workers.
Statement-2 : Regular salaried employment is a major source of
employment in rural areas in India.
In the light of the given statements, choose the correct option from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
27. From the terms given below in Column-I and Column-II, choose the
correct pair of statements : 1
Column-I Column-II
6] Subsidies (a) Maximum quantity of goods
that can be imported
(1) Land ceiling (b) Element of IPR 1956
(i11) Small Scale Industries (c) Land to the tiller
(iv) Modernisation as a goal of (d) Change in social outlook
five year plan
Options :
A ©-(@) B) (1) - (b)
(C) (i1 - (o) D) @v)-(d)
28. Distinguish between Physical Capital and Human Capital. 3
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29.

30.

31.

32.

33.

(a) “forma TmEmaf 4 gEshr) wiufaal wl sewT o & 17
IYATH YA <hT Y TIERTUT g S fere firg o |
AU
(b) el & <t qorn ° wmefior e 6 el Sl s A e e % iR %
HIUT <hl ST . |

(a) WA ALTEERAT o ISHT 23T & &Y H “HATH- T & =39 & 61D & dohl I
Gferg au L |
YT
(b) =T L TR, fore TohR ag 3 e KX (GST) A TEGTT 9 Ja1aT T HU I Sgard
ol Tl 51 fea 7 |

(a) “"ESt &1 § 7Y ToA-Torgd T AnTa Yt B % HY-T1Y e 3% o
Grferd 21d & |7
3YURH HY I I deh GRT THTIU i |

(b) & &AHAT ST IRATRYT i |

Tfered™ grT 379 371 ferenTa e o6 foTu 331U 77U faemTcHes shed! ol 9o ot |

fferfiad e o1 eaTYE STeTE W

HY-TETT T TTHOT ITH R H JrHor o <6 fofe fferat & HeeEqui B S ® R 19

IRA § Trior & H o7 areft 7R TR o1 TETET SRqd N & | A 3T I B,

IT-31emid A goredt & 2t e fofa o oot STeRtor S8 deh-ieh! Tam=R o 8,

ST IHTGeRAT I FETEH S&AT H g Hd & |

IYfd FET P! GAafed Hich 9 Toae SR 8 Huh T1UT ek o FHhi b oG

Sfera gewr frafor givieed st & o arates fsmifert o felan ot <0 o 8 | W@ sam

IO &R H USSR g9 H @06Rd ®9 8 IAEH JH A 8 | &R 4 RKVY-

RAFTAAR, $fY S/a6@ 1 %19 a1 Agri-SURE 31ife faft= shreisret % aresm & Hfy

T3l 9 Jaft o fore et fifd o forfra a1 yeeh R g |

IO Tl & AT FH b SR R FAfTRad e 6 S g :

(a) 3oor@ hi foh g TR BV -weéar FN &= o 31 areft TR A=l 1 Tmam
T B E |

(b) R H HiY RT3l 9 IAMT Rl THA ¢ H TGhR Al yfireht T feouft |

2
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29.

30.

31.

32.

33.

(a) “Cooperatives have received a setback during the recent past.”
Justify the given statement with valid explanation.
OR

(b) Explain the reasons behind less number of regular salaried
employees in rural areas as compared to urban areas.

(a) Describe briefly a rationale behind choosing ‘Self-reliance’ as a
planning objective for the Indian economy.

OR

(b) Explain how, Goods and Services Tax (GST) has simplified the
multiplicity of taxes on goods and services.

(a) “In the mountainous regions, mini-hydel plants prove to be cost
effective as well as eco-friendly.”

Justify above statement with valid arguments.
(b) Define Carrying Capacity.

Describe the path of developmental initiatives taken by Pakistan for its
economic development.

Read the following text carefully :

Agro-startups and rural enterprises are becoming increasingly vital for
rural development in India. They address the critical challenges faced by
rural sector in India. These ventures bring in technological innovations
such as precision farming, IT-based monitoring system and data-driven
decision making tools that enhance productivity and resource efficiency.
By streamlining supply chains and creating direct market linkages, they
ensure better pricing for farmers and reduce dependency on traditional
intermediaries. Such enterprises contribute actively to employment
generation in the rural areas. The government has demonstrated a
continuous policy and financial support for agri-startups and
entrepreneurs through various programs like RKVY-RAFTAAR, the Agri-
infrastructure fund and Agri-SURE.

On the basis of given text and common understanding, answer the

following questions :

(a) Explain, how agro-startups address the critical challenges faced by
the agricultural sector.

(b) Comment on the role of government in supporting agro-startups and
entrepreneurs in India.
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34. (a) W SN gRI Ieiigd ohi foh, FTAfgd oM Heg & STeT 316 : 2x3=6
() SNufARwER e % 3farid, T H &Ehel o SRR o HROT HY & §
giggs oft |

(i) Teree U Hire 1 S fave samaR # fem st sraen wnfia s |
(iii) ST STEHTAT & T1 3TT T wra # e o1 @ @1e o |
I
b) (1) JARHTH : 3
(1) SIeeh o STSTech STEEH
(2) Teuefta 3 sgueia =R
(i) “oTe JEWT <] &1 I & foreg Ueh AT hard <hl STTEwIHT 3 |7 3
IR e o 3TTelish H, 39 foo § ¥R gRI 31T ¢ hedi i foear &
Fugd |
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34. (a) Giving valid reasons, state whether the following statements are
true or false. 2x3=6

(1) There was growth in agricultural sector due to expansion of
aggregate area under cultivation, during the colonial era.

(11) The objective of World Trade Organisation (WTO) is to establish
a rule based regime, in the world trade.

(iii)) Economic growth with regional disparity was the main goal of
planning in India.

OR
(b) (@) Distinguish between : 3
(1) Tariff and non-tariff barriers
(2) Bilateral and multilateral trade

(11) “Small-Scale Industries require a shield against large scale
industries.” 3

In the light of given statement, elaborate the steps initiated by
the government in this direction.
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